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1)
Mutiply using the long multiplication method as shown in example a).
3 279 - 25 6 9 3 5 - 29
6 5 5 8 1 3 8 7 0
1 6 3 9 5 b 6 2 4 1 5
) 8 1 9 7 5 ) 2 01 1 1 5
3 8 2 5 - 3 3 1 2 7 8 - 5 4
1 1 4 7 5 6 3 9 0
1 1 4 7 5 5 1 1 2
91 26 2 2 5 d) 6 9 0 1 2
27)
Mutiply using the long multiplication method as shown in example a).
1 1 3 2 7 5 9 8 0 3 3 - 9 0 6
7T 9 2 4 7T 2 2 29 o7
5 6 16 10 O 0 0 O
a) 1 10 11 28 18 b) 4 48 1 19 8
8 5 9 11 8 8 7T 2 7 47 9 8
21 2 1 - 9 9 1 5 3 4 0 - 3 T 6
1 9 0 &8 9 1 6 0 2 0
1 9 0 &8 9 3 57 23 28 0
c) 2 1 21 d) 3 32 20 24 0
2 1]_ 10 1]. 19 1]. ]. 2 10 10 7 8 4 0
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Mutiply using the long multiplication method as shown in example a

Mutiply using the long multiplication method as shown in example a).

3)
35 - 6 2
2 1 0
7 0
a) 2 1 7 0
2 1 4 1
8 4
2
d) S 6
4)
9 6 2 5 4
4 48 sl 10
3 8 4 8
) "5 1 0 4 8
3 3 9 6 0
2 .0 .3 o4
0 0 0
c) 2 0 3 4 0

Good Luck!
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5 2 - 3 2
1 5 6

1 0 4

1 6 6 4

~—

T2 -7
5 0 4

2 1

5 2 5

5 6 5 4 6

2 22 26 -0
b 3 33 39 0
) 2 5 9 9 0
T 7 5 - 7 5

5 4 52 35
3 38 7 25
V"5 51 2 5
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